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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 1056152401 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the organism with correct sequence of taxa m hierarchy from the
following.

* " i ~ % o, oy .f
LGS L) re ks 20 A LG
Options :

Homo — sapiens — Mammalia — Chordata — Homonidae

Ly sl 0 ~ LAt~ — st

Triticum — vuigare — Poales — Monocotyledonae — Spermatophyta
S1a b ¢ 3 b1 I - i k
Kb g1-Lsi ) S dv- = 2a= 1/
2. %
domestic — Musca — Muscidae — Diptera — Insecta
LL=1 it 3=y it
3.¢
Sapindales — Dicotyledonae — Mangifera— indica — Anacardiaceae
3 s b sfie o 4 b »n
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Question Number : 2 Question Id : 1056152402 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Correct Marks : 1 Wrong Marks : 0

Which of the following plants are called as petro-plants?
™ o ke 5 - .
Ll 12y-0L .::..;_,!:;_J_'J._w:
Options :

Jatropa and Banana

- ,
W sl ~.

1. % ’
Banana and 4drnica
5‘1’;’}'“:[/

2. ®
Jatropa and Pongamia
AT sl 7

3. ¢
Pongamia and Banana
iy
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Match the following:

List-1 List - 1I
A)  Buchner I) Urease
B) Summer II) Artificial synthesis of the gene
C) Knoll and Ruska III) Palynology
D) Ramanujam IV) Zymase
E) Khorana V)  Electron microscope

The correct match 1s :

LA 50
List -1 List - 1I
A) A D 749
B) /S m  bdsdel
C)  Kms 1) Gosl sk,
D) / W ) Pl

E) 1§ V) ufuf.-_-,ll}u/l

Options:
A B C D E
IV Vv I IT I
1. %
A B C D E
IV I v II ITI
2. %



A B L% D E
IV Vv II I III

IV I v III II
4.

Question Number : 4 Question Id : 1056152404 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0

Assertion (A) : All bryophytes are homosporous with haplo—diplontic life cycle,
Reason (R) : The sporophytes of all bryophytes produce two kinds of spores.

The correct option among the following is:
Ny —_ br .
-,;_,_"_?.:...!E.wgfﬁ L-*i;ﬂb,m-g )J.;.: __(J" b;’lﬁu‘ﬁ'ﬂi(ﬁ)aﬁ
" i
-ﬁ;&;n&ﬁf"ﬂ;;rid;*ij’ Ggl,f:uﬂ-d:(Rl;;
ﬁ‘..,:@““'lga.uﬁpti;u

Options :

(A) 1s true (R) is true and (R)is the correct explanation for (A).
-{.;JLE::.-M:(R):_J. Z(A) s e iR zrs5(A)

(A) 1s true (R) 1s true but (R) 1s not the correct explanation for (A).

e oboner s(RIL LA e s (R)em i ii(A)



(A) 1s true but (R) 1s false.
-;:_,!zh’r(R)uflflw.:‘_:.fﬂ(A}

(A) 1s false but (R) 1s true.
e n(RE e bb(A)
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Which of the following features are common between Salvinia, Ginkgo and
Leucas?

A) Type of lifecycle

B) Water conducting system

C) Female sex organs

D) Male Sex organs

E) Process of fusion between gametes

F) Dominant phase 1 life cycle

G) Sporophytic main plant body

H) Differentiation of main plant body into true roots. stem and leaves
I) Secondary growth

I) Production of spores

The correct answer 1s

S P etk Lo n LS A F i

{j i =l (A

AT (B

L1l (C

PR

Lo znvenlysi (E

dop ol (F
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Options :
A.F.G.L Jonly

Jd«GF AP
1. %

2. ¢



A.B.F.G. Honly
H <G F B ¢ AL

B,E,G.L Jonly
J G E B S

B.C,D.F, Honly

H F <D «C B3~
4. %

Question Number : 6 Question Id : 1056152406 Question Type : MCQ Option Shuffling : Yes
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Identify the plants based on the given characters in a sequence.
A) Peduncle 1s unbranched.

B) Flowers appear to have arisen from the same point.

() The main axis continues to grow.

L_,"f.__%fuﬂg,;JHJH:.'L:J:‘“&L?JJJ}I;
bl ASE (A
-QELK/TwQL-L%.JdHfJLﬁLﬁ_{Uﬁ (B

-ﬁ;.&fgﬁ.al?é_ Z:&E.:{J}; lj.)!fb (C

Options:

Datura —Carrot — Crotalaria

WY EV LT
1. %



Carrot — Crotalaria — Datura

ne -L;JJ-*UC,E' ¢

Cocos — Tridax — Carrot

ﬁf/"JEl’I;’-uff

Cocos — Crotalaria — Carrot

ZE-Lws S-S

Question Number : 7 Question Id : 1056152407 Question Type : MCQ Option Shuffling : Yes
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Which of the following statements are correct regarding the placentation in

mustard?

A) Ovules develop on the inner wall of ovary.

B) One chambered ovary becomes two chambered due to the formation of a
false septum,

C) Two chambered ovary becomes one chambered due to the disintegration of
a false septum.

D) Ovules develop along the ventral suture of the ovary.

ujg:«tg:.u'i/;.u’:ii,gﬂ%.L:f;"ﬁi/’/

_ﬁ;Jﬂl,fH:j!{':Juﬂ Slb o (A
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Options :

1. %



A. D only

D¢AJ A~
A. C only
CeAdA
2. %
C. D only
D «Ci /A
3. %
A. B only
B A~
4.
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Choose the correct combinations from the following:

A) Nucleus wrregularly shaped — Cell size smaller - Generative cell

B) Spindle shaped cell — Cell size bigger — Vegetative cell

C) OQuter wall of pollen grain — Cannot withstand high temperature — Variety of
designs and patterns

D) Micropyle close to funiculus — Ovule covered by an integument — Anatropous
ovule of Asteraceae

E) Prior to the pollen release. stigma becomes receptive — Endospermic seeds in
potato — Dichogamy

The correct answer 1s :
TR .
SEELEE P 5 (a
Flisk- 20 S 6
Ky j;;. J,IJIJ;‘Z.rj S-S ALy .'UJ;L,!—A I j;_LJ Uthe i (C
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Options:

C.D. E only

ED:«CHr~
1. %

A.B.E only

E B «Ad~

2. %

D. E only

EdD i~
3.¢



C. D only
D<«C i~
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Correct Marks : 1 Wrong Marks : 0

Which of the following condition leads to development of more than one embryo
in a seed?

i w ¥ e o -~ goreiiffoe, i
5q_t'/,_-,:y;jL}xwg“-’uy;..yu.‘@uwfa,u::.mwf;,_:.u
Options :

Growth of thick walled nucellar cells into the embryosac

_bwzfu{’&é%!_lmgﬁjfgﬂﬁﬁ $=

1. %
Fruit developed with parthenocarpy
. - &
-,_,{}".'i.ﬂ L ST
2. %
Thick walled collenchymatous cells surrounding embryosac
BV O WP P RRTVIT LT Yo )uugigf N
3. %

Growth of thin walled parenchymatous cells around the embryosac into
the embryosac

BT NI R 4 )uugi-f S anl L *
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Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
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Taxonomy based on description of morphological characteristics only 1s called

as:
W te :’-ﬁ Pr - I
IE;'_-JJZH}LJJJ—:P#Q - }Z—-r_ L‘-J:”J
Options :
Numerical taxonomy
. B
=Ll (ax
1. #
Omega taxonomy
2 d e
2. %
Alpha taxonomy
:.-__L'r'bu’ﬁ} i
3. %
Cytotaxonomy
=g
4. %
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Arrange the characters of Solanaceae in a sequence which are represented in
the floral formula.

A) Gamosepalous calyx

B) Bisexual flowers

C) Bilocular placenta

D) Petals in valvate condition

E) Basifixed anthers

F) Zygomorphic flowers

G) Pedicellate flowers

H) Introrse Anthers

The correct answer 1s :

e B3l s bt b E S e les? Sy

fwigﬂ J (A

JEE (B

L $iess (C

WL . (O

iV (E

JE Ly (F

JE$%s (G

b (H

:g'_._',Iﬁg

b

Options:

B. A.D. H. C only

C «H D <A B~
1. ®

F. B.D. H only

H<{DB:«Fr~
2. %

3.¢



B. A.H. C only
CH:A«B~

G.F. A. H.E only

E <H ¢A F «G A~
4. %

Question Number : 12 Question Id : 1056152412 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
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What happens if golgi apparatus of a cell 1s misfunctioning?
- : 1 R T
te bt Lok S pd Tk
Options :

Cell wall synthesis takes place

-< L;’.‘:Idl_.j Ut |§:.._5:""

1. %
No cell plate formation
o o o Es s
e G e kR
2.
Two cells are completely formed during mitosis from a single cell
_L,_?E...L.;J:U/l:,lljjiiurp/;flr:;-d}j&ﬂlﬂuk'J;J)butidﬁﬁﬂ
3. %

4, ®



There 1s no effect on the cytokinesis

4 }réf.{, N7

Question Number : 13 Question Id : 1056152413 Question Type : MCQ Option Shuffling : Yes
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Assertion(A) : Endoplasmic reticulum divides the mtercellular space mto
luminal and extraluminal compartiments.

Reason(R) : The tmny tubular structures scattered in the cytoplasm is
responsible for this partition.

The correct option among the following is:
" e ' 1
_ﬁ;EJ:JLpﬂu'ryL:-‘.&:',f,i_r,ufl?ﬂLlpdﬁj"ulegULu'w:(A)&f:
e dniidid Lo nsigiupmbldentne # ViR 29

ﬁ;_.,@““'lg:.wﬂigu
Options:

(A) 1s true (R) 1s true and (R)is the correct explanation for (A).

—e ol s(RIL L(A) sl e s(R)em e s(A)
1.4

(A) 1s true (R) is true but (R) is not the correct explanation for (A).

e zoloner n(R) L(A);:)Jf-,"a:_ e (R 5(A)

(A) 1s true but (R) 1s false.

e BRI e =rs(A)
3. %



(A) 1s false but (R) is true.
ol :.-u:('R)u,sJ-'-'luf_hE(A}
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Which of the following are not homopolymers?

A) Collagen

B) Starch

C) Inulin

D) Chitin
10 (B },,J:.':"?A*:.J.!'/:..uful_'},._},u
4_;-;: L'.rrf (A
Gt (B
g9 (C
v+ (D

Options :

A.D only

A DA
1.

A. C only

A, C 5~
2. %



B. C only

B
C. D only
C,D..A”

4. ®

Question Number : 15 Question Id : 1056152415 Question Type : MCQ Option Shuffling : Yes
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Arrange the following compounds in ascending order with respect to the number
of carbons present in their structure,

A) Glycine

B) Ribose

C) Lecithin

D) Glucose

ﬁ;pﬂfiﬁ&iﬁi)fﬁﬁpffb/iﬁfﬂ:ﬁtfurulyfutigﬂ

¥ (A
g_f.él,f (B
- |
S (C
#¥ D
Options:
AR C.D
1. %
B.A.C.D



A B, D.C
3.¢¥

D,C,B,A

Question Number : 16 Question Id : 1056152416 Question Type : MCQ Option Shuffling : Yes
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The DNA molecule has 4 heterocyclic compounds namely *A’, ‘B". *C", and ‘D",
In that “A’ pairs with ‘C’ by means of 2 hydrogen bonds. while ‘B” pairs with
‘D’ by means of 3 hydrogen bonds during formation of its double helical
structure. Identify the names of A”, ‘B, ‘C’. and ‘D’. n the same sequence.

w AumL e sl Brie mUt U1t D #ICB AelSy fw}:.’-at 40 (1%
ctdi2 A LD L SIS BS Caa bt A LCE 5L E P 0k

AU D A C B A LIS

Options:

Adenine. Guanine. Thymine and Cytosine
-~ z - i il
I F el B a4
1.

Guanine. Adenine. Cytosine and Thymine

L'.f;b;,fjld';;tﬂ u,{_"i'j;hu;f ff



Thymine. Adenine. Guanine and Cytosine

Nl

g0 or ;L,,r"ﬁg.!;

Cytosine, Guanine, Adenine and Thymine

LG e s H
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Formation of synaptonemal complex and the stage(s) at which it 1s best uslble

awﬁvwc.._.f,.m_, }'.’-/;‘,Jw/a 1 &,—

Options :
Leptotene
&
A
1. %

Zygotene only

-
e i3~
2. %
Z}-’ggtene and pachytene
k A
J,_',,-_"V:L:’Jﬂ 1_)": b
3. v



Pachytene and pachytene

B *
A [0 ahe

Question Number : 18 Question Id : 1056152418 Question Type : MCQ Option Shuffling : Yes
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Assertion (A) : The cell layer above the pericycle will have barrel shaped cells
and will not allow water through them.

Reason (R) : Asthese cell walls have waxy material deposition. they become
impermeable to water,

The correct option among the following is:

=l JL.;JJFZ.J{;::. J:JUH{_VKJ)L:’ E’L,-ﬁ u'/JJ:..{:.:,.{:Jﬁ{,:fiugVJﬁ (A s
e bbngyid ,;5;I.{Sgug_Ju;_f:-ﬁ&uwrrufumgjdﬁ,fug:('a}.;,
di'_....l?r:'l g:..u:-\li.._:-,u
Options :

(A) 1s true (R) 1s true and (R) 1s the correct explanation for (4).
- ;}&:#;:(R)é L(A)J}I{_:ﬁw;(R}r{_:ﬁwﬁ(A)

1. %
(A) 1s true (R) 1s true but (R) 1s not the correct explanation for (A).
ce ol (R LA e (R e (A)

2. %

3.¢



(A) 1s true but (R) 1s false.
_{_HJ(R)Q'Q{_:JJJ(A}

(A) 1s false but (R) is true.

& :..u:(R)w'-L-'Ic.::_.in(A}
4. %
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Match the following

List-1 List-1I
A) Submerged suspended hydrophytes I) Pistia
B) Root caps are absent Il) Sagittaria
C) Rooted hydrophytes with floating leaves  III) Utricularia
D) Plants live partly in water and partly nair  IV) Nvmphaea

The correct match 1s:

. LL:":'_,E 3o
List-1 List-1I
A) u"i'fliuﬂ:;‘;’rdﬂ;} I) L
B) U iareiZ M) A&
C) U lnzlydl f m) |
D) niino Al 2 AE P sy v) e



Options :

A B L D

II IV I ITT
1. %

A B C D

IT I 1A% III
2.

A B C D

ITI I IV IT
3. %

A B C D

III IV I II
4, *

Question Number : 20 Question Id : 1056152420 Question Type : MCQ Option Shuffling : Yes
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Choose the correct answer from the following:

A student identified three xerophytes A, B and C consisting of succulent leaf.
succulent stem and tuberous root. respectively.
Identify those plants in the same order.

o f
:[‘,.:.." ‘*'!.‘T‘Iﬁf: ‘:'Vr:\'.ft-’:“?"l"

3 - W - r :"' e * i ol
U’i-:L;j?;jw;}fbﬂyf;rﬂym.jﬂ@u:Q'?dg‘%UC;}IBrAJ’ Basiel d..fk..'.«-’u’bgl

3 ’bg.&ruu{wl o 7

Options :



Aloe, Opuntia and Asparagis

o
U sl s

1.4

Opuntia, Aloe, and Asparagus

=
vl I_J:_:,'ﬁ;}l,—“_,}-'l;{:i:-_;!

2. %
Aloe, Asparagus and Opuntia
E:..:f,:,-,rﬂj:.;‘ir;,-f__;'l
3. %
Asparagus, Aloe and Opuntia
=
Ll sl e s ) o™
4, %
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Assertion(A) : Competitive inhibitors are used m the control of bacterial
pathogens.

Reason(R) : A competitive inhibitor does not resemble the substrate of an
enzyme i its molecular structure,

The correct option among the following is;

e LB s L LE S 2w LA (A
-;:;t')fuift#@'scﬁpf;ﬁbj }"'r_. |flu'_d.ar’"J (R}.m
;'_...lfr” IC ._.L,-J:.m'

Options :

(A) 1s true (R) is true and (R) 1s the correct explanation for (4).
=z =olses (R LAl er ss(R)e s s5(A)

1. %
(A) 1s true (R) 1s true but (R) 1s not the correct explanation for (A).
- J#L&Jyﬂ(R)é i(A)c)’g{_;ﬂ(R}m;;;ﬂ(A)
2. #
(A) 1s true but (R) is false.
_G‘F'_._EE(R)GI-L:ILGL_;#’JJ(A}
3.¢
(A) 1s false but (R) 1s true.
_ﬁ;y;:(R)ﬁQ‘q_hﬁ(A}
4. %
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Correct Marks : 1 Wrong Marks : 0

Identify the respective absorption maxima of chlorophyll-a in reaction centres of
photosystem-I and photosystem-IL.

SV -3 SO 2 A e Pk
Options :

700 nm and 680 nm

630 nm.* 700 nim
1. ¢

680 nm and 700 nm

700 nms+680 nm

2. %
650 nm and 750 nm
750 nms650 nm

3 %
750 nm and 650 nm
650 nmu 750 nm

4, %

Question Number : 23 Question Id : 1056152423 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0

Choose the site of chemiosmosis for the formation of proton gradient and ATP
synthesis in the given two metabolisms resulting in:

“ W i F o,
-:f?l:—;{.f;d u’/f;;ifgﬁl.;. f.-.ajl? ATP.sl &/ L:JL’:J;U“::,L{-_,;JJJUJ



Options :

Photosynthesis Respiration
A 7fL v
Intermembrane space In lumen
prf’dﬂil J A ;{-LJAJ:"
1. %
Photosynthesis Respiration
et g
Cytoplasm Nucleoplasm
L itk
2. %
Photosynthesis Respiration
W v
Lumen of thylakoids  Intermembrane space
o K S of 1111t0c11c:11d1‘1a
w LI SLILEY
3.¢
Photosynthesis Respiration
LIS v
In stroma In cytoplasm
IRy P Y P aoTEv
4. %
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:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Arrange the following reactions in a sequence that occur in Calvin cycle.
A) Carboxylation

B) Regeneration
() Reduction

D) Oxidation
-ﬁ'ur:-:.:}?u)’ur‘u{ftfu,'y fr:aLLb'“Lfigjr
UE'J:,!'JK (A
4 (B
=¥ (C
&
Options :
ACB
1.9
A.B.C
2. %
B .1
3., %
A.B.D
4. %
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Identify the reason for not releasing O,by maize during anabolism of glucose.

A) Carboxylase activity of RuBiSco in mesophyll cells.
B) Increase of CO, concentration in intercellular spaces of leaves.

C) Activation of oxygenase of RuBiSco.
D) Decarboxylation of C, acids.

The correct answer 1s :
I o E L0, oml 7P Li¥
o K RuBiScolt B (A
Lo 2§61 CO, U2 Pkt Lo @B
SKS K251 ERuBiSco (C
S LbuEsC, O

:.;:_.T,,fﬁg

Options:
A. B only
ABU”
1. %

B. C only

B.C i~
2. %

C. D only

B B O
3. %

B. D only

B,D. i~

4.¢



Question Number : 26 Question Id : 1056152426 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Assertion(A) : Present day lLiving organisms include both facultative and
obligate anaerobes.

Reason(R) : All the living organisms possess enzymatic machinery for partial
oxidation of glucose with the help of O2.

The correct option among the following is:

-uﬁﬁxidlﬁ/{‘r‘iﬂﬂ!ﬁ Ll/,f; US- E—J'J-.l:’-?UJLE'JT:{A)&f.‘
e 3l LA L F G (i s SFTLE Mol (R)2»
ﬁ;_‘.lﬁ“u'lgc..gi-‘f_igu

Options:

(A) 1s true (R) 1s true and (R) 1s the correct explanation for (A).
—e 2l o L(A) sl ssleazrs(A)

1. #
(A) 1s true (R) 1s true but (R) is not the correct explanation for (A).
_;:_Jj;?&::ﬁf;:]é.i(zﬂ\)w'?{_y;;(R}:;:.y;J(A)
2. %
(A) 1s true but (R) 1s false.
-;:_Jakflufgmf_ =~s(A)
3.v

(A) 1s false but (R) 1s true.
& &"J’}(R;}Q'J:Icﬁ‘__ﬂf(!:’k}
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Which of the following is a substrate level phosphorylation reaction in Krebs
cycle?

('J‘T-ul'l-;u):"! S i P uﬁtﬂﬁ/ e itizn

Options :
succinyl CoA —» succinic acid

CoAJ — r;;"}'..ﬁ:"’

succinic acid —— fumaric acid

aﬁ.ﬁf—-—}aﬁ_f/!;i

a — Ketoglutaric acid —— succinyl CoA

fumaric actd ——> malic acid

o Lk o
a/;*’._.-'f..‘:.’—-—}rﬁ’_.ﬂ}"
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Assertion(A) : Respiratory pathway 1s considered as an amphibolic pathway.

Reason(R) : Respiratory pathway is connected with the breakdown and the
synthesis of both proteins and fatty acids.

The correct option among the following is:
-{_t‘lgtL;—'l,f\JJ/.f&‘:f:f:fou’L2(A)af:
_;:'_t'f&':.....t-llt'..ulUW’JLu:’::ifrl_hd{,’;}lu’y:,;:flxd}!(R},g_!
c:_..'..l’.;'lédc..ﬂdi.gu
Options :
(A) 1s true (R) 1s true and (R) 1s the correct explanation for (A).

N L:?:&“J}(R)é-i(ﬂ).df r;l'_:.-f’ﬂ(R}rc;'__“.-f‘JJ(A)
1.4

(A) 1s true R 1s true but R is not the correct explanation for (A).

- uf >l s s ('R}é. ;C(A}c)'g < ._"ﬁf.a-:('R}q:_ = 2(A)

2. #
(A) 1s true but (R) 1s false.
o
- BE(R)J¥ ez s3(A)
3. % ' '
(A) 1s false but (R) is true.
- (R}Q"L:Ii .;:'_J:J&(A}
4, %
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Identify the correct combinations from the following:

A)  Terpenes ——— hastens malting process ——— 24D
B) Carotenoid ———  stimulates the closure ——— ABA
derivatives of stomata
C) Indole ——— Increases the inter
colnpounds nodal lE‘Ilgth [BA
D) Amodified foorm ——— helps nutrient e
; . e ——  kinetin
of a purine mobilization

:éu?@lff,l}*’:lyn;.w;bﬁuieu
A U WA ! 24D

0SS iz L
B i i - __ ABA
L)M f"b’:ﬁﬂ/ gt

C) el i e bbrfiaS s —— 1BA

57§ o A 2087
D) f :,a.u.'d.»:ru&,w"-_-{,,vﬂ L-,,:‘:.'.":J’K
-4:_‘:'/'

Options :

A. B only

& B oA
1. %

B. D only

B.DJ#
2.¥



C. D only

DA

3. %
B. C only
4 % B. €.
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Choose the correct statements from the following according to G.J. Mendel:

A) In self-pollinated heterozygous tall Fy plants. some off springs of F» were
dwart.

B) The factors to express specific characters are present in the genes of an
organism,

C) The symbol for dominance tall will be “T" and recessive 1s ‘d’ dwarf.

D) Genes that code for a pair of contrasting tIEllTS are known as alleles.

)/ 73’: i, :...u:J’ sondb Ll 4
o S AR UmF L L el (A
Sl Nl L bl el SIp L) (B
L'l Lo la Tl LU (C
L AL Ll ut® e @

Options :

A.B.D only

A.B.Do
1.¢ =



A.B. C only

A.B.C i
B. C. D only
B.C. DA
3. #
A.C.D only
P o s T
4. %
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A pea plant with dominant phenotype and unknown genotype is used in the
hybridization experiments. If the progeny 1s having 1: 1 ratio between dominant
and recessive phenotype. which cross is used in this experiment?

uﬁ_,ﬁ‘m_}u S :u;uﬁ-.;_t'ﬁdv?l LAY WBi1s98 2 L AR 1L F i

S bl b1 el Ut f T Sl e n LU S
Options :

Back cross

=% L
1.+

Test Cross

> ;:':' LT
2. %



Selfing

e
3. %
Dihybrid cross
= b 4y
4, %
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Identify the correctly matched statement pairs from the following:

A) F. Griffith — Transformation in the bacteria.

B) Avery, MacLeod and McCarty — DNA passed from virus to bacteria.
C) Hershey and Chase — DNA 1s the genetic material.

D) Wilkins and Franklin — RNA is a genetic material in viruses

!:frd?%)/ ;;g£u|g£47u§ G-u‘:uti?ﬂ

S 4 L %F, Griffith (A

&7, £ }CJ.-;.J?IJDNA- McCarty.s/ MacLeod<Avery (B
_{_n:i.g}: I\.{I DNA  —Chases/Hershey (C

_;:_a}L;P LI U¥ #bRNA —Franklins/Wilkins (D

Options :

A B
1. %

A C

2. ¥



B.C

B.D

Question Number : 33 Question Id : 1056152433 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which culture medium was used to prove “DNA replicates conservatively™?
"ol g sk hlias DNA"AS b S culi g Sl g €

Options :

35 . .
S containing medium

L33
1. %
32p confaining medium
.E‘.!K}EP
2. %
- el s
Medium with ~~ NH,CI
A 2L PNH
3.¢



Chromogenic medium

.Jf:@!":frx
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Identify the mutation and the amino acid involved in causing sickle cell anemia
disease.

S 2w UM AES s R F

Options:

Point mutation. Valine

& -
u,fil:ﬂ;_,—ll,&; L3
1.9
Point mutation. Lysine
U4 L
2. %
Frame shift mutation. Glutamate
st L)
3_ W
Frame shift mutation. Valine
e L33/
4. %
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Assertion (A) : Traditional breeding leads to multiplication of undesirable genes
along with desirable genes.

Reason (R) : Sexual reproduction permits variation.
The correct option among the following 1s
_a:_f:,":wV.ffbﬁ“b’ép;ﬁlhﬂ:ﬁ&fgu&?)_-’}&fk/uj ufJJJ’jf,';"!(A)af:
o =
_.:L;EJ:,}L.HU,?_’JQ’J;:,;:.J{E'J!(R);}
ﬁ;flﬁ““"g;.wiigﬂ
Options :

(A) 1s true (R) 1s true and (R) 1s the correct explanation for (A).

-;:_;:*LB:JJ:(R)Q_]- i(ﬁ)ﬂ';“_:ﬂ"ﬂ(R)r;“_ = (A)

1.+
(A) 1s true (R) 1s true but (R) 1s not the correct explanation for (A).
-ﬁ;uj;}uchﬂ(f{)»f_' £(A);:)J?-=:'_:.-f.u(R}m:'_;uz(A)

2. %

(A) 1s true but (R) 1s false.

_ﬁ;ﬂé(R)p’l-flcﬁ;:.ﬁu,s(A}

3. %
(A) 1s false but (R) 1s true.
e (R e bb(A)

4. %
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Which one of the following 1s a correct part of methodology used in plant
DNA 1solation?

e TPl P }Jl}i.:fdif‘;"fg,ﬁ:d A‘D:\IA iujlg;w_ﬁrﬁ.—pr:u’:}'.?ﬂ

Options :

Digestion of tissues with chitinase

,-A%E/L,';jgﬁtfipﬁbﬁ

Dissolution histones with detergents
1k . by i
P k? 20 s

Addition of ethyl alcohol to precipitate the genetic material having
uracil

SIS Lot v ok $E L1 s

Removing polymer of amino acids with proteases

ted pbs L 2ot AL L sy,
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Choose the incorrect statement from the following:

2/ sl Lt 550

Options :

1.¢

DNA can be stained by ethidium bromide followed by halogen light
exposure for observation.

-;:'_D:l;yrz;jsa.fuue:kfﬁLféfLmF’J:;’lgj.im LitdeNA

Agarose gel electrophoresis 1s employed to check the progression of
restriction enzyme digestion of DNA fragments.

e tbl@uds B ki L& e 1 Liko i AL s ¥ LDNA

Purified DNA can be separated and removed by spooling.

g D:l;_l:f_m =k JJ};’”:‘{DNA.!;J -

In order to select the cells with the desired genes. colony hybridization
1s used.

e C VU IEEI3N L LT gk e UF Lt
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Assuming that the occurrence of nucelotide bases in adjacent position in DNA

is random, what 1s the probability of the occurrence of a 8 -bp restriction site
(5! GGGG CCCC 3Y) ina 650 kb genome?

8 ~bp o1 2650 kb(S L ZA 361 L Lyt KK o6 12 JADNA
Se ki nZ(5' 666G 0CCC 3 DA 2,

Options :

N
1. #®

10
2. ¢

15
3. %

20
4. #
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Identify the mismatched statements from the following:

A) Streptokinase - Streptococcus - Inmunosuppressive agent.

B) Statins — Monascus purpureus — Blood cholesterol lowering agent.

C) Penicillin — Penicillium notatum — kills bacteria.

D) Cyclosporin — A — Trichoderma polyvsporum — removes clots from blood
vessels.

St St L usie fifion

san - p- L (a
LAl S AL ¢ —L-_:Jg,f-f y-t (B
M- s (C

Sl fr’/lo I} u}é L,L- lJ us - "J.!"L-’!'w Fip = A = u;;;*u@v (D

Options :
A. B only

- B w37
A.D only
A.DJ

2. ¥ 3

A. C only

R

3. %
B. C only
A

4. %
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Biogas formed by the action of anaerobic bacteria during the secondary treatment
of effluent consists of the following gases.

A) methane

B) hydrogen sulphide
C) carbon dioxide

D) nitrogen

f | i - il s [y
e AS e Qbbb e JULL Lt Ll L si

uEFJ-’f

y{HEU ! B)
WK ©)

JuFt D)

Options :

A.B. C only

ABC A
1.4

A.C.D only

A0
2. %

A.B.D only

A B.DJA
3. %

B. C. D only
B.C. DA
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Study of animal behaviour is

S Mo LTS Uil
Options:

Ecology

=/l



Evolution

]
2. %
Ethology
= LEl
3. -
Eugenics
4. %
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Assertion (A) : Species is dynamic.
Reason (R ) : It is the basic unit of classification.

The correct option among the following 1s
-:‘_.;_}ﬁdlr'}i,-;:(ﬂ)af:
d ISk -J‘JFJJ-..- (R) s
i ..:E’ﬁ'!:..u-'ﬂ:..u:d:}'gu
Options:

(A) 1s true. (R) is true and (R) 1s the correct explanation for (A)

-2 Lo :-—-"J'J(R)é_’_l.. .;':.(A)J:Iﬁ'_ u;s(R)c{_ = s3(A)



(A) 1s true. (R) 1s true but (R) is not the correct explanation for (A)

e erboser n(RIL LMK oo iR ss(A)

(A) 1s true but (R) 1s false

-c:_bjf(R)cch:_:.-fﬂ(A)
3. %
(A) 1s false but (R) 1s true
_;;'_:.-fJJ(R);:)'? < LE(A)
4, ®
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Statement I : Tilman showed that increased diversity contributed to higher productivity.
Statement II: Constant environment promotes niche specialisation.
The correct option among the following is
3 3 " - "
-ﬁ-_w:,gm:yuﬁ;r;:ﬁwf::u:_wf et JJJ’ Tok
- o 'T 2 ' bt}
-zl Pre A oy
cl,'_..*.rl'ﬁ"l:..m:..u’fufi._m
Options :

Statement I 1s true. but Statement IT 1s false

= | (U] FOL- 7] (O]



Statement IT 1s true. but Statement I 1s false

-ﬁ;ﬂﬂu,,'lf.p'gl;"_ =k

2. %
Both Statement [ and Statement II are true
-L,E.;',-—u:l]uﬂb.,f:flu}gr;,';u

3.
Both Statement I and Statement IT are false
L BRTT e s T e s

4, %
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Which of the following is not a triploblastic phylum?

’ {i ._'l" " {"' -
-:'_L,,'ff (‘l' bl U;Jl.;'b’};,,'ﬂ c;.u'f,;_,,t_:-..._:u)

Options :
Ctenophora
lJ'!; .;;

1.4
Hemuichordata
AITH

2. %



Platyhelminthes

o T

Echinodermata

L,.f.?,“f/l
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Identify the retroperitoneal organ from the following.

IS 2IRL 2 B S50

Options:
Heart
l...—l-’
1. %
Kidney
i
2. v
Gomnad
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The junctions between epithelial cells that prevent the leakage of body fluids

<O, LI L 2026 nL s '

Options:
Desmosomes
uﬁﬁ!"’f{';

1. %

Tight junctions

ik

2.9
Gap junctions
Ie>

3, #
Synapses
Jel

4, %
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Assertion (A) : Cardiac muscle 1s described as a functional syneytiuim.

Reason (R) : The rate of heart beat 1s regulated by an autonomic mnervation and
adrenaline.

The correct option among the following 1s

-;:;JL;J;JL-EJ:.J"SIJ,;J’J(&?JP!(A)af,r

" ! Yoe Lo wi it
-a}ﬁ;d;lgingiﬁvgkwmw;’lL}t.aﬁlu,f 70 /0 g’;@:JJﬁ(R}g}
;;...,P‘H'lga.pﬂd'igm

Options :

(A) 1s true, (R) 1s true and (R) 1s the correct explanation for (A)

—e o lser (R L(A)sleerss(R)ecm e ss(A)

1. %
(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)
e P eoloser s(RIL LA e (R)eem iz 13(A)
2.¢
(A) 1s true but (R) 1s false
- BE(RIJY oz (A)
3. %
(A) 1s false but (R) is true
e N(RIJE e bl(A)
4. % ' '
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Match the following :

List-I
A) Choanocytes
B) Lasso cells
C) Stinging cells

D) Renette cells

The correct match 1s

List -1

A Sz

B) Ll AL oy

Q) Lif
D) i»—‘-ﬁ;

Options:
A
WV
1. %
A
I
2. %

List -IT
Cnidaria

Porifera

[I) Nematoda
IV) Ctenophora

Mollusca
List-II
D Lk
1D | Ay
1) H{Y;
V) Lf}; -
V) Kl
D
II
D
1‘._.'-"

PP
WSS S 500
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The function of parapodia is

Options :
Burrowing
11

1. #

Swimming

vz

Food collection

Pivl"



Visual sense

4 #
18270 4

Question Number : 50 Question Id : 1056152450 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Antennary glands are the excretory organs of

) : T ST
‘..;_,_"_‘.-’LE!_F"IE.UA"H..U IV TS PR

Options:
Chilopoda
|j{.',k3
1. #
Diplopoda
543

2. % )
Arachmda

3. % '
Crustacea
e

4. &
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Read the following statements:

A) Circulatory system is closed type.

B) Excretion 1s performed by solenocytes.

() Exchange of respiratory gases occurs mostly across the external body surface.
D) Notochord persistent throughout Life.

The above characteristics are applicable to
Py d etz
bt )’j:{;;l,f:slflﬁi (A
_;;_rlfy’@!ﬁsg;jiuxtfﬁr (B
-;."'_t':fr;.ur‘?ii,d,qgiﬁﬁ:p%m’f{f“ﬁ“f (c
et landii @
JLU?UB'Q)/:.L}:;HLJ:‘}U:;JJJ{:AI

Options:
Ascidia
(W€l

1. %

Petromyzon

OLVARY-2

2. %
Branchiostoma
sof 1

3.¢



Balanoglossus
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Study the following table and pick up the correct combination(s).

S.No Group Salient feature Example
I) Cyclostomata Circular mouth Lamprev
II)  Pisces Poikilotherms Hag fish

IIT) Chondrichthyes Lamelliform gills Pristis

IV)  Osteichthyes Placoid scales Labeo

!J./';.'.:;’:f._".ft = fl =z éﬂ ;J':jr{.tlliv‘ KJ:A;?LIL?;J

SNo =2/ oy ULV Je
D w1 60 U r’_./:f.J
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Match the following:

List -1 List -II
A)  Anurans I)  Opisthocoelous vertebrae
B) Urodeles IT) Heterocoelous vertebrae
C) Caecilians IIT) Amphiplatyans
D) Birds IV) Procoelous vertebrae

V) Amphicoelous vertebrae

The correct match is
L,fhd_'i;;:
List =1 List -11

A) uju"ﬂ D ;*’_.ﬁ‘.xjujﬂ!!

B) Uy 1D ,»_fﬂub’;}.:f
0 S 1) % e
D) e V) »*_.ﬁ;:ui’!:(;..;
V) L—,’;J}Jéﬁfl
el
Options :
A B C D
IV I 111 Vv
1. %
A B 5 D
IV I 11
2.
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Statement I : Increase of size of the infected cell of the host due to parasite is known
as hyperplasia.

Statement IT: Some parasites cause degeneration of gonads of their hosts. This
phenomenen 1s called parasitic castration.

The correct option among the following 1s

-:‘_t'llr'/ytg/f (Ao bt L omme os§ A pilok
-sz SABT ELIAS, PO N, Y Sos Z.uu,-,éi_vﬂ:f?.l fw J: 5{:”%
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Options :

Statement I 15 true. but Statement II 1s false
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Statement II 1s true. but Statement I 1s false

-~

e BT e TTul

Both Statement I and Statement IT are true

a4t 5&-‘;:[1;‘%,;:’1:,‘_@:;_,‘!"3,!
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Both Statement I and Statement IT are false

EERTT L s T e U9 2
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Stages of Plasmodium in order pre-erythrocytic cycle is

A S Ll Lo s 25,
Options:

Sporozoite — Trophozoite — Schizont — Cryptozoite
Y Ny e NS IV SRSV

1.¢

Sporozoite — Trophozoite — Cryptozoite — Schizont

. & Fae. '!f - +’ k £
e LI VL M S N1 W= VT



Sporozoite — Schizont — Trophozoite — Cryptozoite

ol T i+ . ;
VYL E NS SV VIV IV] o

3. %
Cryptozoite —Trophozoite — Schizont — Sporozoite
E) . . r
Y BTy e VI Y RN
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Assertion (A) : Sexual dimorphism is distinct in 4Ascaris.
Reason (R) : The post anal tail in male 4scaris is curved.
The correct option among the following 1s
- by il? |"}:'.u’ ljgfe ST (A s
s Jﬂf A1y LUK S (R) 2
818 < Uidion
Options :

(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

—e ol ss(R)L L(A) sl e (R er 13(A)

(A) 1s true. (R) 1s true but (R) is not the correct explanation for (A)
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(A) 1s true but (R) 1s false

_G;._..LIE{R)C;?C:—-:#HJ}(JA}

3.v
(A) 1s false but (R) 1s true
- ( R)u’g < b(A)
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Statement I : Confirmatory test for pneumonia is widal test.
Statement II : In pneumonia, alveoli get filled with fluid.

The correct option among the following 1s
~e Bl L Lok
—e bl A JLdgd Tk
.:L;_..-E‘"'!:..»'JJ.:.L,K'.J_E.;J:
Options:

Statement I 1s true. but Statement IT 1s false
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Statement II 1s true. but Statement I 1s false
o
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Both Statement I and Statement I are true

_uﬁy;:I]g,'Q,J:flp'.L_:cp';u

Both Statement I and Statement II are false
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Which of the following are sleeping pills?
s S o

Options :
Amphetamines

L«'x L

Barbiturates

)
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.;_f‘" Jxb

Tranquilizers
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Benzodiazepines
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Certain organisms show delay in development during periods of unfavourable
environmental conditions. and spend some period in an inactive state called

T % T 3 ey g
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Options :

Hibernation

I* A

1. %

Aestivation

= E

2. %

Diapause

(]

YN

3. %

Dormancy

u’; 283
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Identify the denitrifying bacteria.

;]ﬂ;f‘:fﬁjk ol Al

Options :

Nitrosomonas
I -

Ly /.-}" ¢

’|_ E
Nitresococciis

' )

u/j - ?z.-‘i t

2. %

Nitrobacter

b i L
redr
3. =
Thiobacillus
4, &
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Match the following:

List-I List-I1
A) Pharvnx I)  Prevents entry of food
B) Larynx IT) Tube up to mid thoracic cavity
C) Trachea IIT) Help in sound production
D) Epiglottis IV) Common passage for food and air

V)  Tube into the alveoli

The correct match 1s

SIS S50

List-1T List-11

A) u’( ,c’ D .:‘:_."u:'ui FJJL.E;
B J/ M $dnLord
c) Ui M et oa st &Lt

D) & V) S22 Linmdi
V) Sutdes

ebb

Options :
A B & D
IV Vv I II
1. %
A B C D
III IV I II
2. %
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Lett side shift of oxygen haemoglobin dissociation curve takes place during

w e 5 T 4 = - _“_.f:,
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Options :

Low pH. High CO2. High temperature
=7 218 31CO sl pH(

High pH. High CO». High temperature
:dh"'g.x)f}'cc{_};f:hpﬁgﬂ
2. %
Low pH. Low CO3. Low temperature
l—""-r.-*’r..-?._?;'ir FCO:H ile'J
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High pH. Low CO». Low temperature
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In extrinsic pathway during blood clotting tissue thromboplastin released from damaged
vascular wall activates

P T s f L e %4} d i i . - .
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Options :

Factor XII

Factor VII

2.

Factor XI
3_ w

Factor V
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Study the following and pick up the correct statements.

I) Hepatic portal vein carries blood from liver to the heart.

II) Normal activities of the heart are regulated. intrinsically by specialised muscles.

IIT) Angina pectoris 1s a warning signal of deprivation of blood supply to the heart
muscles.

IV) Systemic circulation 1s also called lesser circulation.

_:f,g; /. ;l:i,;.g sl S oK 5o
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Options:
L. IV only
1% LIV 2

I II only

LI~
2. ®

II. IIT only
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II1. IV only
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Assertion (A) : Protonephridia are found in lancelets.
Reason (R)  : Protonephridia are primary concerned with excretion.
The correct option among the following 1s
k| o i
-ﬁ;rggg¢ﬂ Lt/ esz (A s s
_,-" -T P = r.--‘ - - o R B
- B oS ALk P (R) 2
;“___.rL:;'lg;.u:J_’_igu
Options :

(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

-2 L-'a:.:,-u:(R)q_J_ L(ﬂ)i!'d:_.n:-f‘ﬂ(R}‘ QWJJ(FU

1. %
(A) 1s true. (R) 1is true but (R) 1s not the correct explanation for (A)
_;:_,;_,i";._-'.s L-?::_"...U:(R);_J_ £(A}Ug{_:~‘ﬂ(R)‘{_¢fﬂ(A)
2. %
(A) 1s true but (R) 1s false
_;L-_AJ&(R)&?{_ = 3(A)
3.¢

(A) 1s false but (R) 1s true
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Match the following:

List -I List -1I
A) ADH I)  Aldosterone
B) Renn II) Vasodilator
C) ANP III) Neurohypophysis
D) Angiotensin -II IV) JG cells

The correct match 1s

:{_,fdl.J-;"’g_ti._n:
List =1 List =II
A) ADH D il
B) D A
C) ANP 110 S PP
D) 7 e V) £IG
Options :
A B C D
IT1 1AY I II
A B & D
IV III 1T I



A B C D

IV III I II
3. %

A B c D

I11 v 11 I
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Motor protein in the myofibril that is able to convert chemical energy into mechanical
energy is

S Nzt § QIS STy 1) A

Options :
Actin
o
Tmpnnin
2. %
Tropomyosin
.;;,-"{’L{J,;
3. %



Myosin
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Pneumotaxic centre lies in

St i/ /_.L’:J?r‘:f

Options :

Cerebellum

) A

[

1. %
Medulla oblongata
PET sal U9 S
2. #
Limbic system
e
3, #*
Pons varolii
d}.duf‘l{:
4. v
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Statement I : In electrical synapse. the pre and post synaptic membranes have
conductive links called gap junctions.

Statement II : In chemical synapses. the post synaptic membrane has ligand gated
channels.

The correct option among the following 1s
sz éruuﬁdlr."uﬁuﬁ dww,,;uh’ ISLAYA
B &, -
® SE.:EL,"%LFJ/_.}!JJJZ_‘#JJJP‘?QW|A’fuﬂﬁdyﬁllu‘k
e ctidion

Options :

Statement I 1s true. but Statement 11 15 false
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1. %
Statement II 1s true. but Statement I 1s false
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Both Statement [ and Statement IT are true
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Both Statement I and Statement I are false
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Match the following:

List-1 List-IT
A) Thyroxine I)  Reduces glucose level in blood
B) Calcitonin II) Reabsorption of water in nephrons
C) Insulin III) Lowers calcium level in blood
D) Oxytocin IV) Metamorphosis of tadpole larva
E) Vasopressin V) Contraction of uterine muscles

The correct match 1s

2 SUd 550
List-I List-11
NS D e b s
B) ofrk D A A
C) g ) et /UL Ly
D) o+ V) J6S 7l S
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I IT I IV V
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A B C D E
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Select the odd one with reference to disorders caused due to hormone deficiency.
LI 4 . . - s
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Options :

Addison’s disease

S B4
1. %
Cretinism
b
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Gout disease

L,F/..“«:g

Diabetes insipidus
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Vaccination 1s a type of

i

— t'!fs’.":’-{f j'::é!

Options :

Innate immunity

22U

Passive acquired mmmunity
'-F' "
R T 18 o T

Artificial active acquired immunity
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Natural active acquired immunity
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Peyer’s patches are

-

A -
LUkl 4

Options :

Primary lymphoid organs

i |
Laft &' (ad = of

Secondary lymphoid organs
Lor1 2 S 9

2. ¥
Lymph nodes

3. %

Endocrine structures of small mtestine
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Assertion (A) : Almost in the middle of the menstrual cycle. ovulation takes place in
human beings.

Reason (R) :L.H. levels in blood reaches to maximum.

The correct option among the following is

-ﬁ'-L:‘fff-:'i‘f:‘-f'j' u':i.b'&’-ﬂg}ﬁ@iu’%'pufu!"ﬁfi(ﬁ[)af;
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Options :

(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)
_,;i‘_:.-?i..:ﬂ::.-fﬂ(R)é- L(A)Jﬁlﬁ'—:ﬁ"JJ(R}‘f{—-yJ!(Aj
1.4

(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)

_;:_Jf;é&::..f.n(R)‘j__J- L(A}J»O;;;:.HJJ(R}‘:;_QJ;(AJ

(A) 1s true but (R) 1s false
-c:_hJ-E{R)'* = = n(A)
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(A) 1s false but (R) 1s true
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Which of the following is not a barrier?
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Options :

Vaginal ring

-k JLJ’

1.9
Cervical cap
I

2. %
Diaphragm
If 3P4

3. % )
Vaults
JJ’!
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Which of the following blood group(s) is /are not possible in the progeny. if the parents
have AB and O blood groups?
I) A II) B ) AB IV) O

3 | F 5 [ T T
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I) A ) B ) AB V) O
Options :
I only
L7
1. %
IT only
| Ny
2. %

IV only

TVt
3. %
IIT and IV only
TV I ~
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According to Genic balance theory. the Drosophila with the Karyotype AAXO 1s

- Lﬁr:;ﬁf&ifJMXOd@&u!’if/grdﬂ;u;g

Options :
Male
7
1.9
Female
a3k
2. %
Intersex

e

Metatemale
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If a person has an additional copy of chromosome number 21, the disorder 1s described
as

'y o# - H -~ |" % o If-"‘"
ol 78Il A s VL

Options:
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Down syndrome

B, s
("1 k- 3

Klinefelter syndrome

f’:;..f:-‘ /LJ.'.J:g

2. ®
Turner syndrome
b L ]
("dih=r s
Edward syndrome
b bk
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Mule 1s a product of
"z';ﬁ‘_auﬁpwbc;,ufr/f

Options :

Out crossing
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Interspecific hybridisation

FALAS It

Cross breeding

=

3. %
Line breeding
LIE
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Liquid tumours are

§ ﬂi iy |
Loy ujr
Options :
Lymphomas
s
1. %
Carcinomas
b K
2. %
Sarcomas
' rd
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Leukemias
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Two particles having equal mass and charge are separated by a distance r. The force(s)
they experience is (are)
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iuﬁu”ﬂuw.w Uhny r;-u?,gd.f::r C..-L-;’H-.:E|ru§£§4'61’?1}'@'}:5;}8#;}})

Options :
Attractive electromagnetic force only
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Repulsive electromagnetic force only

TAZ 3481
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Attractive electromagnetic force and attractive gravitational force
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Repulsive electromagnetic force and attractive gravitational force
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: : b s .
The Bernoulli equation can be presented as P +5 PV~ + pgz =C Where P 1s pressure,

p 1s fluid density. V is fluid velocity. g is gravitational acceleration. z is distance and
C 1s the constant. The dimension of the constant C 1s
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A track is in square shape. The length of each side is ‘a’. There exists a pole at each
corner as shown below. The person who walks on the track starts at the 1¥ pole and

reach the 4% pole. The ratio of distance travelled by the person to displacement is

e
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Correct Marks : 1 Wrong Marks : 0

Acceleration ¢ is given in terms of position x as @ =2x m/s” . Atx =0, the velocity v is
zero. What 1s the relation between velocity v and position x?

y i . ™~ , ® ", 3 i IH .
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Options:

v=x/§):

1. ¢
v=2x
2_ W
2
Vvi=2x
3. W
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The co-ordinates (x. y) of a moving particle at any time ‘t" are given by x = at’ and
y= . The speed of the particle at time ‘t" is given by
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A football is kicked off with a velocity of 147 m/s at an angle of 30° with the ground.
The time the ball takes to touch the ground s
(2=9.8 m/s))

(il B ca e QoGhet e B§14Tm/ s i L30° el sd o3 L
(2=9.8 m/s?)

Options :
el
1. %
15s



26 s

4. ®
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A 10 kg box 1s pulled on a rough horizontal surface. The force 40 N 1s applied at 60
angle from vertical. If co-efficient of kinetic friction 1s 0.25, what will the acceleration
of the moving box? (consider g=10 m/s’)
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Options :
0.76 m/s2
1. %
1.52 m/s?
2 ®
1.46 m/s?



0.68 m/s2
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The relation between the displacement and time of an object is given as x =t> +7, The
displacement happens under the action of a force in x- direction. The mass of the object
15 2 kg. The displacement of object when the velocity 1s 2 m/s and work done by the
force during imitial 10 s are
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Tmand 428 J
428 »IT7Tm

1. %
Smand 428 7]
A28 J s+l 8 m
2 %
7m and 400 J
400 Jus17T m
3 %

4.+



8 m and 400 J
400 J4I8 m
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Two identical bodies of same mass move with speed V, and 2V|. respectively

directions perpendicular to each other. After some time, the bodies collide and merge
with each other. The speed after collision is
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A body of mass ‘M’ collides aganst a wall with a speed v’ and retraces its path with
the same speed, the change in momentum 1s
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Zero
1. #

2 Mv
2.

Mv
3. %

—Mvwv
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The time periods of a given simple pendulum on the surface of earth T1. in nternational
space station Ty, and on the surface of the moon T; are related as
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Options:

TE < T]. = T3

1. %

Ta=Ty=Ts
2. %

Ti>=Tr=T;
3. %

Tr<Tr<T3
4.
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A satellite is revolving around the earth at the speed V. The height of the satellite is
6R; from the earth surface (R, 1s radius of earth =6400 km). If another satellite s

orbiting 600 km above the earth surface. The speed of this orbiting satellite 15
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Two wires A and B made of same material is subjected to same tension. The length and
diameter of A. B are 10 cm. 1mm and 70 cm. 2 mm respectively. Then identify the
correct statement from the following:
will 45 a4 x s 48
Imm, 10cm " 2L £ 210U BaA-c Ele LIUs Basl AUtz celes$flL
1/ J’; ub{:.u..uLL»d.a_.'L..r-%me 70cm.s

Options :
Wire A would have larger extension than wire B

= -
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1. %



Wire A would have lesser extension than wire B

Sndieud Mo lBA AL

Wire A and Wire B would have same extension

SnloPuE LB AL

3. %
No extension for Wire A and Wire B despite the application of tension
S 72535 Bt s AN LSE
4. %
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A cylindrical container of cross sectional area 10 cm’ contains a liquid of density
1.2 glem’ upto a certain level. A piece of ice having mass 9 g (density = 0.9 glem’) is
floating mn this liquid. If the ice melts completely. the change n level 1s
"y i “) . I 3 You " & o A !
u:uim-a;,mr/f_fy;gf@jﬁ’w gfcm' uifd'f“'Lh;;iJUff]O cm?
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Options :
0.15 cm
1. ¢
0.25 cm



0.35 cmm

3. ®

0.45 cm
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Two identical blocks of ice A and B float in water as shown in figure. Then
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A B L Water Level

Options :

Block A displaced a greater volume of water since the pressure acts on a smaller
bottom area
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1. %
Block B displaced a greater volume of water since the pressure is less on its
bottom
~ " -‘_\, p : * %
et L £ L LUt Yos B
2. %



The two blocks displace equal volumes of water since they have the same
weight

' - o e N
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Block A displaces a greater volume of water since its submerged end 1s lower
in the water
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A hole is drilled at the center of a metallic plate. If the metal plate is heated. then the
size of the hole will be

# - # P { f
bl A e ety Lt Ladfenss

Options:
Expanding
1.4
Contracting
2. % J:E;

Remains same

i_)‘f.'*(ii,',«;d;r’
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An object cools down from 90 °C to 70 °C 1n 10 minutes. when room temperature is
30 °C. The time taken by the object to cool from 70 °C to 50 °C 1s

- A - 1 £ 3 FhL - o o A
L= 307 n.".uffg;‘JUﬁ.rTﬁ?sﬁ;dlgﬁuﬁ.k"TO °C90 °C 102

0¥ L b i 2t £50°Ce 70 °C

Options :
10 min
1. %
20.3 min
2. %
16.7 min
3. %
14.5 min
4. %
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Consider n moles of an ideal gas. The gas expands adiabatically from nitial temperature
T; to final lower temperature Ts. The work done by gas 1s proportional to

f..c.._.«-'aJuFl:..T el 7 218 J'Lv|;’..|c"...w'/!’1f)t U l-u*LJJ"HG.-urJJVL,"Jff P}

Cra MY LA e UG TR 7 2

Options:

Specific heat at constant pressure and difference between initial and final
temperature
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1. %
Specific heat at constant volume and difference between initial and final
temperature
L3P nLci 7 58 7Tndiiistenrs 94
2.
Only specific heat
Lo isr
3. %
Ounly difference between initial and final temperature
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4. %
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An ideal gas undergoes through an isochoric process whereby its internal energy is

. . . A .
mcreased by AU. If the heat expelled (thrown out) by the gas is AQ, then the ratio — 1s
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Options :

1.0
1. %

0.5
2. %

—=1 1)
3.¢

—2.0
4, ®
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A gaseous muxture consists of molecules of type A, B and C with masses
Ma > Mg > Mc. The correct relation between their average kinetic energy is
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Options :

Ka=Ke=>Kc

1. %

Ka<Kp<Kc
2 %

ka=Kkg=Kc
3.¢

Ka=EkKp<EKc
4, %
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Consider following statements

A) Longitudinal waves need bulk modulus of elasticity and therefore can propagate in
all media.

B) Progressive wave is a wave that moves from one point of medium to another.

() Inawave, energy and mater are transferred from one point to another.

Choose the correct option
2/ f g2t ion
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Options :

A. B. C are correct

Ll cBea

1. %

only B and C are correct
5’ ;

JC C sl B2~

2. %
only A and B are correct
,_ﬂéi B sl A A~

3.v
only A and C are correct
;_,,,r,:éi C sl AS#

4. %
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Light from a point source in air falls on a spherical glass surface of refractive mdex 1.5.
The distance of the light source from the glass surface 1s 150 cm. If the image is formed
at a distance of 150 cm from the glass surface. i the direction of incident light. then
the radus of the curvature of the surface 1s

dmel Sb i1 55 WPt S b e i L
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Options :

20 cm



40 cm

2. %
30 cm

3.¢¥
15 cm

4. %
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In a Young's double slit experiment the mtensity ratio between bright and dark fringes
1s found to be 36. The ratio of amplitude of bright and dark fringes is
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Options:

36:16
1. %
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Charges on two identical metal balls 1s Q and 3Q. They are kept at same distance after
an initial contact. What is the ratio of initial to the final force?

Fape ( ot A ” ‘ 7( 9
SE31 G <l LA/J,;J;M,:L:J :Jr.pildu-I'-I--yg?J&LF}/;-L;ESQJ.!IQL}'J'?J;LJ:A:J g :,LF’JJ W3

a7 -
fellerfuPt
Options:
453
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Three capacitors each of 4 |F are to be connected in such a way that the effective
capacitance 1s 6 F. This can be done by connecting them
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all 1in series
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1. %
all in parallel
LAV :'Lgﬂ
2. %
two in parallel and one in series
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3. % )
two in series and one in parallel
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The resistance of a wire (its temperature coefficient=0.001 K ")is 4Q) at 27 °C. Ifits

temperature is increased twice the initial value, the final resistance of the wire 1s
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Options :

41 0Q
1. %

4.5 Q
2. %

49 Q
3. %

5.2 Q
4.¢
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A battery of emf 10 V and some internal resistance 1s connected to a resistor of 17 Q.

If the current in the circuit s 0.5 A then the internal resistance of the battery 1s

(py=4rxl 0. charge of electron e =1.6 x 107" coulombs)
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0.6 Q

1. %

2.5
2. %

3.55)
3. %

3.0Q
4. &
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A long straight wire carries a current of 20 A. The maximum force experienced by an
electron moving at a speed of 100 kny/s. at a distance of 6.4 cm from the wire 1s
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10N
1.¢
107N
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5x10°N

8x107"N
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The magnetic field at a centre of solenoid is B. The solenoid 1s cut into two equal parts.
For the same current. what is B at the centre of new solenoid?
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B
1.9

2B
2. %

4B
3. %

B
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A short bar magnet has a magnitude of magnetic field 10T at a point on its axis at

: : : : E;
a distance 10 m from it. The magnetic moment of the magnet 1s ( gy =47 x107")
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Options :
2.0 Am?
1. %
1.0 Am?
2. %
0.5 Am?
3. ¢
)
1.5 Am~
4. %
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A rod of length 2 m has a translational velocity of 1 m /s in a direction making an angle
30° with its length. The plane along which the rod is moving is normal to the magnetic
field of inductions of 2 T. The e.m.f induce between the two ends of the rod 1s

A LS et mshindBiterd L3006 A LSS A 32 mdl
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Options :

05V
1. %

1V
2. %

15V
3. %

2V
4,
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A cell phone charger consists of a stepdown transformer to convert AC voltage of
120 V to AC voltage of 5.0 V. If the secondary coil contains 30 turns and charger
supplies 720 mA. calculate the current in the primary coil
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Options:

12 mA
1. %

30 mA
2.

85 mA
3 %

160 mA
4. %
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Let Eand B are electric and magnetic field in an electromagnetic wave. Identify the
correct option
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Options:

1.4



E = E, sin m(r—i)ﬁ B= B, sin a{r—i)k
c c

E= E,sin rﬂ[r—l]i B= B, sinm[r—i}l'

€. c
2. %
E:Eﬂsillm[r—i}hBzBﬂsinm[r—i]f
g, c
3. %
= il .. X V% = .9 X\~
E=Esin m(r——};.B:Bﬂsm m[?——]k
4. %
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If the velocity of a particle is reduced to half what is the percentage increase in its
deBroglie wavelength?

f
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Options :
100
1.+
200



400

50
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If a source of power 100 kW produces 1.5 x 10% photons/sec. The radiation belongs to
spectrum called as (h=6.63 x 10~ Jjs)

LA T B0 S5 100 AL Judr00 kw /)
(h=6.63x10""1is)

Options:

Gamma rays

L:J,fr;'.f

X —rays

L,.-I_.fr"X
2.

Ultraviolet rays
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Microwave rays
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The frequency of the line in the Balmer series of hydrogen spectrum corresponding to
the transitions fromn =15 1s
(R Rydberg constant)

o P 7 & v # L
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Options :

2.1x10'R
1. %

63x10'R
2.9

45x10'R
3_ 4

1.5%10'R
4, %
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An electron and proton are produced by breaking of a neutron. If the mass of neutron,
electron and proton are 1,675x10™ kg, 9x10 ke and 1.6730x10 kg respectively.
find the amount of energy released 1n this process.

(consider velocity of light 3x10°m/s)

P i€ ol st Nt e g L i N e d Lntd §
Soans §3u3dnd gt 3 AU un 16730x10 kg a1 9x10 kg 1.675x10 kg,
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Sn3x10 mis 45,

Options :
0.66 MeV
1. %
0.59 MeV
2. ®
0.62 MeV
3.¢
0.68 MeV
4. ®
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Which of the following statement 1s correct
-
!ci‘_égc,'i:;.u’::ftgut};n
Options :

p- type junction can be obtained by doping with pentavalent atoms

_,;_DC bl S a sl LA LAkt S A4

1. %

The junction barrier in a p-n junction diode is decreased under reverse bias

-t P - i 3 n # &
u;'_dlip_*ﬂ(:fﬁ: L,r‘JLrl,_;).!J -JGJL‘}A'Z ufj:'liu"ﬁ?.;;{!té

2. #

The minority carriers in n — type semiconductor are electrons

iy P + . L i
U e IES LU S Sl

3. %

The product of number of electrons and number of holes in a semiconductor 1s

constant,

- . . i i i a}_, . -~
et i ALK ISP B S RIS v S

4.
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Identify the logic operation which the following circuit is performing

_3’?@ 3KL,-|'!_E,1JL,UL,::_/¢LE;,._*J;—’JE

Options :

OR
1.¢

AND
2. %

NOT
3. %

NAND
4, %
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The atmospheric region which acts as ‘radio mirror “is

e b U AS T b2 S (U

Options :

1. %



Troposphere only

[ Poow
Y S

Stratosphere only

e
k b -
s/ 5.l "

2. %
Ionosphere only
JETSe
3.¥
Troposphere and stratosphere
I"b B r
0/ % A aslst ¥
4. % '
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The complete set of correct statements from the following is
a) The value of Rydberg constant calculated for hydrogen atom by Bohr model 15
in agreement with that of experimentally determined value.
b)  Bohr theory successfully explained the fine spectrum of hydrogen atom.
¢)  The value of Rydberg constant for hydrogen is 13.6 eV,
d)  Bohr’s theory can explain chemical bond formation.
?,.lf_vu,'f,.;;fg:ﬂﬁ"f{_—-.tg.g;.L,,r:;,fs,.;,-:w"
Wi - 4 T 2 i " N b & i
uﬁlf&.;‘f"e;ﬁ'ﬁf{;}b Moy o r2ofailesr rdfed ) UWJ:{:J (a
. - , - ; > A
<
-::.H.é’f L(}.L;‘E/}r’.%bﬁ‘-’ﬁﬂﬁ;ﬁuﬂfﬁ’ §rd (b
- ,' e #
- 13.6eVed Py J/*u:.,;.;,, k(e
_{_t‘Lé,r: Jigﬁ'dk‘ff}j Kree (d

Options :

a. b and ¢ only

c.albe ald
1. %
b and ¢ only
CJ'.!lbl—j/'F
2. %

3.¥



a and c only

cusl ant ~

c and d only

dusl ot~
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The number of revolutions made by an electron in the 1% orbit of hydrogen atom per
minute is approximately

R 5 % 3 e [ i
_.;L'_—u'_.r;,fjﬂﬂfﬁ.fdbd.ﬁu’:;ﬁ.l_lc'.....")’ur’uf/r”f.gfu“:;l,&%a".f.ﬁﬂua}.fﬂ
Options :
3.9x10"°
1. %
3.9x<10°
2. ®
3.9x10"
3. v
3.9x10%
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The TUPAC symbol and the electromic configuration of the element ‘Unq’ are

respectively. and
& LB : ,
oy 7l - ;JI.‘,J.*."' O A sl TUPACK 4* “Ung
Options :

Rf and [Rn]f—f’“ 6d* 7s’

[Rn] 5% 6d°7s” st RE

No and IR_u] 5£'* 6d*7s?

[Rn] 5f* 6d*7s? . No

Db and [Rn] 5 6d*7s?

[Rn] 5% 6d%7s%.s Db

Lr and [Rn] 5f1* 6d? 7s°

[Rn] 5f'* 6d*7s%.f Lr
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An anomalous pair in Mendeleev’s periodic table 1s
PRV STCY" PR §dvg SrSswe Sl i

Options :

Co and Zn

Co . Zn
1. =

Co and N1

Co s N1
2.+

K and Ca

K .4 Ca
3. %

Niand Cu

Ni 4l Cu
4. %
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The formal charges on oxygen atoms of ozone are

S ASAS A6 LU 2207 T

Options :

+1.,—2,+1
1. %

-2,0,+2
2. %

e W |
3.¢

o e
4. ®
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The hybridization of ‘N atomic orbitals NOE,NUT, NO, respectively. are

o <2 AU 46 £ 2UENO, 41NO,  NO,

Options :

) Ry
SpT. sp-. Sp



sp2. sp. sp°

2. %
3 g )
Sp~. sp. sp”

3.¢
sp>. sp. sp>

4, %
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In the periodic table. the number of elements that exist as gases under normal conditions

13
1 [ o J ’ o (
ol SIS L2 S ol§ e Sm et

Options :

3
1. %

10
2. %

11
3.¢¥

13
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An unknown gas 1s kept at 1 atm at 300 K and allowed to diffuse through a membrane.
The rate of diffusion 1s *r” L/min. At the same temperature. O; kept at 2 atm has the rate

of diffusion ‘ =" L/min. The unknown gas is

"| :I'r' ,|"' F.’j .+"' J|’ ' ’I‘.,"', f e
o R0 AL -6 dd;;.;;;ff.w;..y..{l;ﬁ(}(} K,ur;pdw,t,hmu{«*Mb_ﬂ
#

- " Fi = i
] 4 T | H i r & (i ) - e
fomlf s r)L”Li-;.:Mdf. — S22 S gl dl220% 0,07 (-
1] 2 * ] * ) b

Options :

H>0
1. #

He
2. #

Ar
3_ ]

CHj4
4.+
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What 1s the percentage composition of a solution (X) obtamned by mixing 200 g of a
20 % and 300 g of a 30 % solution by weight?

AASIE ILOOE 2T 1730060 030 %11, 20060 120 9.1

1y
Options :
20 %

1. %

30 %
2. %

26 %
3. ¢

50 %
4, %

Question Number : 130 Question Id : 1056152530 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The equivalent weights of KMnO4 1n acidic, neutral and basic media are, respectively

A "-"-::.fﬂr‘:w":ji.-jf'b‘KKI\"[HO4J::,L|LPL;’L,U]|$‘A;C;}

Options :



306, 32.6. 158
1.9

52.6,31.6.158

2. #®

158, 31.6,52.6
3. %

158, 52.6. 31.6
4. %
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Given the standard enthalpy change of formation [AH/, m K mol' ] for C Hq(g),

CO,(g) and H,0(7) are —105, =394 and —286. respectively. The A H® of complete

’ . : ' : =14
combustion of propane in oxygen is approximately (in kJ.mol ™)

o o3 /. [ &
=2 A (samol™ A )a ety F L H,0(1) 4 CO, () «CH, (@),
iatdrddzged a e f Sz SFTIMI L itgd 2860394 105
e
Options :

574



2221

— 220
3.¢

2431
4. %
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Assertion (A) : For the ammonia formation from its constituent elements. the reaction
at equilibrium will shift m the forward direction with increasing
pressure.

Reason(R) :Increasing pressure shifts the equilibrium towards the side of the reaction
with fewer number of gaseous molecules.

The correct option among the following 1s

L Mo S L LT ISR S f LS deriAns s
" ,"a'!)f".ﬁ;idi.,'!‘l/u /U'WbeJCJUrFUJf‘LVL":.;_WJL.!L (R).‘M
cﬁ'_.ft‘;'fédc.-przul:j._?ﬂ

Options :

(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

-LH?LJ:_«'J*(R)A. ?_-(A).u! ._.-n-'.a*(R)‘:‘_._.«-'J*(A)
1.¢

2. %



(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)

e U eoloser n(RIL LA e s(R)ec e ss(A)

(A) 1s true but (R) is false
(R <= sA(A)

(A) 1s false but (R) 1s true

e n(R)E o sk(A)
4. %
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Which of the following are Lewis acids?
BF3. H)O.H™ SO3

e 2oyl tdiong
BF:. HXO. H™ SO3

Options :

H". SO3 only
SO3 <H '~

BFs. H'. H2O only
H-O «H” «BF3.3 ~



BF3. H. SOz only
SO3 «H™ «BF3.} ~

BFs. H20. SO; only
SO3 «H>O «BF3_! ~
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How many water molecules are directly bonded with the metal in CuS04.5H20 ?

te VNIl LA ne snern AL eles J2CuSO,5H,0

Options:
1

1. %
4

2. ¥
5

3, #®
3

4. %
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The correct order of melting points of alkaline earth metals is
el el - - r’- | o1 el ] P T =
Yo (Y od s ﬁ»'é’f#d!b)ﬁ;{_}f
Options:

Ca=Sr>Mg

2_ )

Mg=Ca=>=51
3. %

Sr>Ca>Mg
4, %
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The correct order of bond angles of dimeric AICI, structure 1s

.;_-_:.__..;}L;*- ful_.;r};:;u.._-.i Z oL, (B L-a2
"_ ! f& s TS AlCl, ‘JLI

Cl Cl

Options :

=111
1. %

[=11=1II
2. ¥

1 =1 =11
3. %

MI=11>1
4, %
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The compound that cannot undergo hydrolysis 1s

~ i =,
Cebd 2



Options :

CCl,
1.

SiCl,
2. %

GeCl,
3. %

PbCl,
4. %
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The total number of aromatic (benzenoid compounds) isomers for the molecular
formula of C7HgO 1s

ﬁ:jxy”.-lﬁﬁdbgﬁﬁ(;y’ PSS F e LC?H,;O,@'L-EUJV

Options :

-2
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Two mdependent reactions of 3-hexyne with “Ha / Ni-catalyst” and Ha / Lindlar’s
catalyst, respectively. gives

SSes 2 . o G S SeSUNi by e U2 2T 30 S s £ Hy il 143
ekt J_,;,ﬂgf 124
Options:

Hexane and trans—3—Hexene

f" -
UA3-S ek

1. %
ci1s—3—Hexene and Hexane
wf'/;(x':'c{'/;(ﬂ*uﬁ

2_ W

Hexane and cis—3—Hexene

JA3-0 S E



cis—3—Hexene and trans—3—Hexene

et e A
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Which of the following sets only contains meta directing groups?
= -
?-:;Jl:z Kg_,ﬁ'f:.u' 5] .a'L"r:._“.-v'J;fo oL, ::...ufg_,-t.i.._:u'ﬂ

Options :

—NO2, CN, CHO

1.4
—CHO. —Cl. —CHj3
2. %
—NH>, -NHCOCH3, “OCHj3
3. %
—oisH, ~CHy ~CN
4. =
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Correct Marks : 1 Wrong Marks : 0

In NaCl structure, the correct statements among the following are

A)  All octahedral and tetrahedral sites are occupied.

B)  Ounly octahedral sites are occupied.

C)  Ounly tetrahedral sites are occupied.

D)  All octahedral and tetrahedral sites are not occupied.

E)  There are six “Cl" atoms around every ‘Na’ and there are six ‘Na’ atoms around

every ‘CI'.
L,L':‘u.“f;::.»t_lﬁ:.u}'/uﬁf_.ﬂ:L&bﬁNaClLu&,ﬁEgiﬂ
-\,ﬂe,b':".k_:"_“.l.l.?'ifszkzjfuﬁpé.xﬁfl’u" (A
-ujaﬁﬁ&%ifﬁ;ﬁ’f..iﬁ (B
] Eaﬁ.@z"am"iuﬁgﬂlg_i/ (C
-\.EL/-?} e,C:".«'Q:"_“.LG'Z.fJukz}fuﬁjjﬁfl"t? (D
NG A ALCL 2 CU g I AL NG 1 (E
Options :
AB.C.E
1. %
B. E only
E«BJ A~
2. ¢
B only
B~
3. %
A.E only
E cAd A

4. %
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Which of the following mixture shows positive deviation from Raoult’s law?
g . ,'I""'w .lf;rﬂa'- Mgb;'l wTlell/rb:“,.TF: -
A s Ly AL g CE ALy A
Options :

Benzene + toluene

L7+ [

1. %
Ethanol + Acetone
JAE +

2. %
n-Hexane + n-Heptane
H“T,_',");'/ + njes

3. '
Chlorotorm + acetone
sk +

4, %
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For a dilute solution. Raoult’s law states that
bWkl AU Setine LU LK
Options :

The lowering of vapour pressure is equal to the mole fraction of solute

A e 2 ‘lfr. *
s sl S LI S

1. #
The relative lowering of vapour pressure 1s equal to the mole fraction of solute
- H ~ ®
_ﬁ;d,ﬁ./,l,ci.‘_.j/Jr’;.prd L,CE[.,:JJQ’IGL&I
2. ¥
The relative lowering of vapour pressure is proportional to the amount of
solvent in solution
- B i o U - ’ g X
b §SI s2r AJF S S0
3 %
The vapour pressure of the solution is equal to the mole fraction of the solvent
-;"_t'ﬁaf,z:ﬂf_./" J:"Lul'b‘ fLadas id
4. %
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The reaction NO, + CO——NO +CO, takes place in two steps.
2NO, —— NO+NO, (k, ) slow
NO, + CO——>CO, +NO, (k, ) fast

What 1s the rate law of this reaction?

< nUEU* £93NO, + CO——NO+CO, JU
INO, —— NO + NO; (k, ) (1)
NO, + CO—>CO, +NO, (k,) ()
e VH e L6
Options :

R=K, [NO,[

R=K,[NO,][CO]

2. %

R=K,[NO,]|
3. %

R=K, [NOE]2
4.
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Which of the following statements 1s /are correct?

A)  Catalyst can change A;G of a reaction.
B)  Catalyst can change the rate of a reaction.
C)  Catalyst can change the activation energy of a reaction.

Y #;:p'ybuf/:_ﬁptig;: e
< FUsAGESS St (A
_;T_D:LJJEJKE,;JUPL;J'#GVH (B

el

-ﬁ'—l:[:df‘.'j ' LCI;JL; L:fuhb’h L,J'LFLE'L? (C

Options :
A and B only
BslAL A~
1. %
A.Band C
CiB <A
2 %

B and C only

CnB A~
3. ¢
A and C only
C A&
4. %
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Which of the following statements is true for physisorption?

ROy | Fal J’b ll p';r‘;.pﬂ:..t_b.;_f_jguw"

Options :

It involves chemical bond formation

—e b R U

1. %
It 1s urreversible in nature
-‘:—L.fljif 2 ,’z’;f
2 %
Enthalpy of adsorption is low (20 — 40 kJ mol i
-1 'J.RJJ el e 0
-c(20-40kImol )¢ (LIS 7
3.¢¥
It 1s highly specific in nature
-f-:'—up}‘cydL?""f";j:
4. %
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Which of the following molecules has the lowest N—N bond length?

?;:'_,ﬁ:;_,J}bN_N[“ .:..__w'u’"giu’f:..ur: u:"prti__:u,&‘-‘



Options :

N,O
1.

N,O,
2. %

N,O,
3. %

N,O.
4. %

Question Number : 148 Question Id : 1056152548 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In general. the molecular oxygen has least reactivity with

- - - -
e dnedel e f AL G T Jv,;,-.-b o

Options:

Pt
1.9

Fe
2. %

Mg



i
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The major products |_[ P+Q)and (R +S}_l in the following unbalanced reactions are
NH, (excess )+Cl,—— P+Q
NH, +Cl, (excess)—— R+ S

Tt o 0 [ (P+Q) and (R+S) | cdhuala pl oo 9o 1 5ia 32 2 2 0
NH, (excess )+ Cl,—— P+Q

NH, +Cl, (excess)—— R+ S

Options :
P+Q R4S
NH,CI + N, NHCL, -+ HC
1. %
P+ Q) R+S
NH,C1 + HCI NC1, + HCI
2. %
P+Q B+
NH,CI + N, NCI, + NHC1,
3. %



P+Q R+S
NH,CI + N, NCl, + HCl
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Which of the following element is radio active i natural form?

-t JEC -
E“‘L.Jﬁ_r{*j}‘b JJ.J-’/"F’; L"L‘,‘f :’.-uf.;_;tj,._ﬁu’)gfﬁ

Options :

Ar
1. #

Xe
2. %

Kr
3. %

Rn
4.
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The transition metal catalyst used in the Haber process 1s

_,_:-_____________.;_,,}'L;LE'L-F":.,I.wJJJJ':’FUfM".-!FL_.JL‘:'"'u’:u}!;@.'.x)’fﬂ
Options :
Cr203
1. %
V20s
2. %

Finely divided iron

e L

Mn20O3
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yER . ¥, . . . N e
A complex [MLg]"" with 3d" electronic configuration requires 4 nm of radiation to
push an electron to the closest exited electronic state. The average energy of the

d- orbital in spherical crystal field is — . The energy of Ty state in [MLgJ* is
A

f;{jﬁf;Lﬁg!ﬁ.‘,";’g}éuguzJKijfw A nmé‘_J.L_%dzuE&Tg}l/’-ﬂal dfu'?[MLf _.fr/u,.{.f;:'..{!
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4
Snduiseh
Options :
% (52-24)
Ad,
1. %
2 (54:50)
AA,
2. W
1€ /54 +31)
5AA°
3. %
IC. e gy
500,
4.
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D—glucose and D—fructose can be differentiated by

e LG L3373-D st 305D

Options:

Fehling solution

J¥ a5
Tollens regent
o 5
-;‘:-fw_,—"uf
2. %
Benedict test
ElooSix
3. %
Br, /H,0
4.
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Which one of the following is more reactive towards Sn! reaction?
- ; e g = -
i er'r:':.-:LLka:.,_f-‘L'w: G’.—L,.-r:ut}.._?ﬂg;f‘ﬁ L'i;_,,l'b'S_\,]

Options :

CeHsCH2Br



CeHsCH(CH;3)Br

2. %

CsHsCH(CgHs)Br
3. %

CsHsC(CH3)(CsHs)Br
4.
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The correct order of the boiling points of the following compounds 1s

n- Pentane  Ethanol tert. Butylalcohol  Diethyl ether

I II IIT 1Y

~ A

{.':l‘_krn_..-;:;:#‘ﬂd L,:_ﬁ,b_'i;éi:flrrf u'_' .3,.._:'.!}

B I -J‘:”/I Jrs sl ﬁ;rjl;'rdrj
I II III IV

Options :

I=1lM=11=1V

M=N>I>1IV



M=10=1IV

=T =11V
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The correct order of the pKa of the following compounds is

ortho-Cresol Phenol para - Nitrophenol — meta-Nitrophenol

I I III IV

fe LJ’J_‘.;"}.:JJJ JpKa/:. :..l_.r"_{/J_'j,;A

Jri /= Ji S Fie S Fity
I II I1I A%
Options :

[>I>10>1IV

1>I0>1V>1I
2. %

[>I>IV>III
3. %

M>I>MI>1IV
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The intermediate P formed in the following conversion is

ﬁ';y’“p__;}jy,;w,;—___ ufJL;’UEJs’ Sion

Gt 2C1/hy H,0 2
> P e

Options :

0
o
1. %
: _CH.CI

CHCL,
3.¢ ©/
CCl,
4, ® ©/




Question Number : 158 Question Id : 1056152558 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the product. ‘A’ in the reaction given below

=

?;:_ Vg‘;ﬁA’Jﬂbpf JL;J'i.d:

@— CHO + Conc. NaOH — A + @—COON&

Options :
OH

CH,OH

O
o
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COOH

Br
FEBQ

Major product “P” formed in the above reaction is
q'.:"_1./.,_,,'.!' f“p” J"ﬂbr"lu.. ;i_.._,. el

Options:

COOH



COOH

Br
COOH
Br
3.
Br
4. %
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The correct order of boiling points of the following amines 1s

??JU[#}yJ}JU?f,LﬁLU;{UJ_.5.-._?.11

TH:_CHE {IfH:—'CH3
— P T ™ —
H—N NHJ H,C T
‘CH:—CH.1 CH,
[ I1 [
Options:
I=>T1=>M
1. %

N=I1=1I1
2.

M=1>1I

H=HI=1
4. %



